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MATH 10F CORE EXAM REVIEW ‘
Part 1 — Exponents
A. Calculate to the nearest tenth.
1.4 2. 49
: - A
3. V0.25 4. 3481 =
"o o
. = ?_
5.3 +5+7 —, 4 =5
Ly o SV16-8 ’g_p;‘_/__,_.éi B
Gr25+ 7 = £/ 3 ) —
7. 4J23-6V7 8. (V19)(v5)
3.3 7.7
B. Write both square roots of each number.
1. 64 ; 5 2. 121
+8,-5% #il o, = 1)
3. 25 4. 81 >
+5,°5 +7,-9
C. Show the steps to estimating square roots.
1. 56 2. V29
e
- . — - i i . e L
ot 73 G5t G = sy

D. Express in expanded form.
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Part 1 — Exponents (cont)
E. Express in exponential form with positive exponents, then evaluate.

L 22’ 3 2. 37+3
7 5 5; -2
. (4) 4 4. (82 ’ /
=y -¢ -
= |18 X/0 § =S¢ T Re2)49Y
5. 1°+77 6. 67 x6"x6
S _ 5
F = SFLYKD/ 777 ¢
F. Evaluate.
1. 5° 2. (-15892.35)°
= | —_ ,
3. 502y 4. 37
N . A _
5. 43x§"x4< 6. (5:)*»,54 ,
A 525" 572 25
7. 20 / 8. (2" / /
- =  — - = T = T
2! 2 =~ 2° A
9. Bi 10 [z] 20 3.3
33 RV 2
2 () =A%k I8
G. Simplify. .
1. 2xy) 2. (-5a'bc)” R 0?5‘ a Yl
: g R FjTe 7 T ———
2°x°y (sYa®b e = T fF
3. 2xY)XY) 4. (-6a’b")(3a”'b’) e
oAy —|18a" b = 2
3 J 3 ;
. (4] &L= o’ e (- #b)"
7 7’2 3 \f S 3c ((3 C-SI
21x7y 2 Vs \:'“* 24a°b’ 2
14x%y - 8 36a’d’ 3ol 5}




Part 1 — Exponents (cont)
H. Put each group of numbers in descending order (greatest to least).

1. -1.2 45 78 -05 -7/8

s Vs

”?/g “”/w;Q

2. 03 -06 -3/4 11/5

/(’gp O. 3

1. Solve each of the following using the correct order of operations.

1. 42-8+2+(3)
1e—94+9 =Ll

2. 8(5+2j—12+2{
5(3)Y — I_~

&2

=8I -3 = S8

J. Express each of the following in scientific notation.

1. 9600 000 . 2.0.000 000 456 2
7.6 X /10 £ S¢ X110
3. 1300 o 3 4. -0.00079 - g
/35X /O *"71; c? X /U

K. Solve the following. Write your answer in scientific notation.

1. (42x109)3.2x107)

(7{&2)(32/\ X 10

4

2. (55x10%)=(1.1x 10°)

(13- 47 x 10
it

/. 3499 X (0

(2

o ~

5 X /0




Part 2 - Equations

A. Evaluate 5x + 3y for the following values of variables.

BN OURIEY 2 S S8+ 3(D
=14 = (L F
T 5(=5)r ) 22 S DD
=7 = -3
B. Evaluate each expression for a=2, b=-5, ¢=3.5
1. a+b+c 7 a—bic
(R)+ (-s)+(3.5) = 0.5 (Q) - (.,34).,»”(35) - 1O
3. 2a+3b 4. ab

20(2)+ 3(-5)= —| |

2(-5) =10

5. S5a-2b+2c .
5(2Yy-2(-5) + U35)

=27

6. -3b+4c+5
“3(S)Y +H (3D FS
= 39

C. Simplify the following expressions.

1. Sa+2b+6a+?2
lla + b+

2. 3x+2y-2x+Ty
&
+ G

3. 3x  +5x—Tx+2x°

- CQ
ST~

4, -5m* -3m-Tm—-4m’ +6

5. ~5j2—3k—~4k2+6/(72
- 57— 4,& + 3K

6. —3p*-3p+6p—dp’

——lpzﬁr Ap

7. —2Qa-b)+3@4a-6b)
~Ga+2b HIRa"1 Tk

= So.— |bh

8. (2a-3)—(6a+3b-5)

02(3.»5‘-—(@&“3]9"*'54
= "‘Lf(e; — 5b+72




Part 2 - Equations

D. Solve for the variable.

I 3x=12 2. 4n=48 B
3 2=-34d IR 4. 24=6
s e - . . —
A=5 ce x=7
R/ x , 3 b x>
5027 )R : 67" = =—4 .
(2}(> /Qf;’“f 3 l’);”/CQ
X= ()
Pt g i k=R
YN - AP
; g‘\% \— | - _,170 =%
9, Ix+11=3x+3 — 10. 53x -1 =8x+9
Yx=-%¢ X= T 152 -5 = Gt X =2
- ® Fx =Y
11.3(j+7)+4(j-4)- =30 12. =67 - 6(3k —4) = —(1-3k)

3 by — b= —30 — F-IBK+RY = — [ +3K

32x\_ /N3 . 5.8 _n.g _ HC
13.(3>~é6\ - = _,é/ 14 0 s rn= e
9:):7(/:“'/8 ﬁ./

55 = n=44

16.<g=9—+9'-%9~
4 5

5(?& = l/ 48 +c~20

=0

2 N .
oA
(OGN + 207 = +FU

R

50 +RA0C =N +9C
3n= K0
n= X

T2
2




Part 3 — Polynomials

A. Arrange the terms in each polynomial in descending powers of ‘x’

1. 4x> =3 +2x°
2. 7x* = 5xy - 6x°

L o - A
3. 4x2yzz+6xy4z-2x3y4zz~4 — 2 :)L}tjf;z}--{-‘-;x, j & é:)( j

L~

3
Rx = B2t

+x-2

+12

C. Find the additive inverse of the following.

-

3 2 - [
—Lx +3x —OxY 7T <

2 -4

1. 2x+5
—RXX =S

2. -6m>+ 7m -8

+bm -=Fmt¥

3. 6y +3y'—4y" +3

2 g Ry —

{)\)

D. Simplify the following by performing the indicated operation.

Add:

1. X"+ 3x + 1
+4x°+2x+ 6

5—-11{, Sx* 7

(62—7z+4z +7)+(3 52"+ 62)
R

3. (xz+4x+3)+(x2

&
3IX + DA

— 5+ (x —x-2)

-4

4. (-Bm4 -3n-—

g9 .
—4n T+ on S+ - R

9)+ (-n* + 6n” + 7n— 3)

Subtract the following.

5. 2x° +3x—4

Vi

6. (y +2y—7) - (-6y° +4y-5) 7. 14x7—25x+4 ~2AxF~ (A x—4
~(__2x+7) - §TrRY-F by Iy S 12x + 5422 X
Ax+5= -l 55( .-(Q%-— —8x* =3¢«
8. xX°—5x+6 9. (4a—8a+3) (-3a” +4a-5)

"( 3x2+4x-—9>

"zQ)'bz" t?;z_, HS’

R 1 +—’7>(<. —Ya+s

??a. -~ Ra+$

10. (4 - 7c+3c) (3c+2c —5)
Zr—Fe+t+3 - QS

2 ,
c —4c+9




E. Multiply the following.

1. 3rx4t

I 2Ar T

2. 2ax5b

10 e b°

3. (-3xy)(-4xyz)

2 R
thf%

4. -5x°yz (Ty°z)

—_ %c;’%z jj%{{—/z

5. (3ab)(-7¢)
~2a bc

6. -2a’c x 3b’c
2 Z
-6 o l’)é(;/

7. -5a'b’ (-2a’b)

8. (-3xyzz)(~x2yz)(4xyzz)

9. (-3xy)(-3xy)(-4xyz)

‘ e 3 oAyt , 3 03
| Ca b | 2 X J = -5 X "B &
F. Divide the following.
1. -14a 2. -32b 3. 20mn 4. —20kim
7 -16b 60m 4kl
N = D.. — ,_,.m
o Y “’%“ 2 B
5. 18xv'z 6. 3x'y 7 -94m'"n’ 8. -75x ”"‘?3
-8 ><2y423 33x’y’ 72n:12;9 n’ 125x "y
q 1 =47 P —
;.Lf X 27 /! )(3(,{7 A6 _:_’_&-—-f{-——-
) = =
o =3
G. Find the area of the following figure: - ‘;—X 4
1 R i/ R ‘ \’
, (/o?x )(/21) =/97x
l
, 2.
\ . °g
4x ( i)é - f)? 9] 2C
12xT ' y‘x T >
7x :

. g~ ;/‘j - . 11 )
Sy = 28w =+ [ = A
;}

H. Given the perimeter of the following is P = 6x + Sy — 4, find the missing length.

3x+4y -2

(521.,,5”3”‘/ - (4'X +

Q:»\») 1’%) -

SN

(5)&-\"{:3“—;2?

(o +“5:,§ - I‘f + 2> T Q}j — 3 =3z “L{j +,.2
%x»—?ﬂ—ﬁ?
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Part 4 — Circles

A.
a. arc
b. radius
c. central angle
d. chord

Define the following terms and be able to draw each.

inscribed angle
diameter

tangent

perpendicular bisector

S oo

Circle C has two chords drawn in it. Chord XY is 9.3 cm long and chord YZ is 12.4 cm long.
When X and Z are joined by a straight line, the line runs through the centre of the circle. What is

the diameter of the circle? Sketch and label the scenario. Justify your calculations.

“93wm
X Y
N L]
// \‘\\ N,
4 \_\'
, . AT 124 em
\\ /:'
\\\ \ Ve
\AM/,/ Z

N - r . PP ~ \(:l )
A‘f\ ‘t)(?—' N\ SO { \\)66}\ in ‘j‘“’“"c\((;x(e ‘/:C)C
o¢ ubde aded bo) Aomere”

[oTeh

C=v y

C= N

IS.S cm

Circle Z has chord XY. which is subtended by inscribed angle Z£XWY and a central angle,

ZXZY. The inscribed angle measures 42°.

a) What is the measure of ZXZY?
b) What is the measure of ZXYZ?

T T
l’ 5 \
N \

Ja2%\ \

Y \

centrall CL\\§S\L sz—j =
tooce necloned L X\ \/
Subdended by Hhe <ime acc

D ¢xzy = UDa= gy’
\@ AN X%\j 1S Gscseeles A

150 =91 _ b d &l
2 N



3. Circle C has two inscribed angles measuring 42° and 36°. é ’5 < u,b 4'5,;/\0((;‘({ }3 Lj \l”% <

a) What is the measure of ZSTU? N A e
b) What is the measure of ZTUV? aame. oo dere Lw/‘&j ruend

¢) What is the measure of ZSRT? Explain your thinking.
;O

cg /ST = D6
@ /TUN= H
| (\C:)KT - \%L}Q" ({:’2‘”3 o

C

4. Based on the diagram below. determine the length of AB. ~ R [
W . .
g -~ 6 : ;2)‘% ¢ ‘t L A - iO
¢ EA .
whHh =C

e

N

g ) Sc yoe Cam UL

DL E ,

/37 N - 5
f" c \‘ﬁi AB::— \j LO%+ ¢s% =5 &S
| f | AB =25 mm

5. The radius of a circle is 90 mm long and passes through the centre of a chord at a distance of 46
mm from the circumference of the circle. What is the length of the chord to the nearest

hundredth? Show your thinking. o o
CQ= q Cmm— Ylomm= 4mm

/ﬂm\"\ N . ¢
/// \.\\ ’ ‘(i E V\Ok ?v\ G\( it "\{’Lv’\ o TSRENYY kL \X* .
’ " N
/' MQ= | Cfo‘l' — 44 — \} bt =— ?%.S//mm :

om | e/ LN :(1%%?) 2= 152 2mm



6. Circle O has chord CD drawn on it. Chord CD is 12.6 cm long. The centre of the chord. G, is 8.4
cm from the centre of the circle. What is the radius of the circle?
2
- (

B plih =
T
// AN /’ R

i C @ /OHD )= radilss.

F™~126cm

7. In the figure shown, what is the measure of ZAFB? Justify your response.

: (€ L bisecter cj AR e medt @ 0
Y ‘
e 4 CnD  isesls/es 5
// / I‘\&‘ \\\ < CDA = '/”OO o £ DCH j'—- ya i%cw =4S
/ \ \ oA 4ST w0 LACB=T
5 |

bed 2. AF & wé—-\ Cenivrai/\ﬂcb

//E\ | 1NSET
N | carB=9s”

8. Determine the length of chord PR in the figure below. Show your work, to the nearest whole

millimetre. *‘r\& AP +ihen AvidL b\,b
TR — 7 5 2
e 7\\\ v Qo -2 = 92/t
,/'// '2"'/ \3'\}\\
VAN = Jlmm
Qb= P /.
0 | Cf =922~ ¢8mm
“\\\ 120 mm “\N\ // 72mm ;
N Tl

\. pa SV ARA ,
e N FR = %gm Mmoo \

-10 -



9. Given the information in the diagram, what is the measure of the diameter of the circle?
—he w’t&ﬂ%»d’ Yo el
‘\ <:> S 't‘d ' U\f)’l \VU C)

— %

64 mm o = Q‘%&>'bﬂ
= Jarcd
3&
)

0]

v

Q

| T = L)‘ 8 22BN —paaw >
N\ /'
\ /, é{/ﬁ.l?f)(;@f\:‘. 92)((“0\&{;{\);)

w’/

- 7 - mn
A round dining table has a centre, H. and a diameter of 1.2 m. The table is pushed into a corner

of a dining room, as shown. Determine the distance between the corner of the wall. C, and the
edge of the table. Express your answer to the nearest millimetre.

80 mm

[1

© Cofnel p% vocdll v (iOO.
¢ il St s L T o«
e = b \/CLM v

c\r C/\ €

N O.W"\ \\ \\ ) C? QQ ,bu fr\”‘"{( [u > '
/N \ | '
f N 6\"1 4 AN (5@ v\% e +O <« 3&’('?'{(\& ]
D ‘ e Y 3 po "N e g“»bu‘a& (N lém‘l LN
\ /
\\ /

o
A, .
x’// cﬁ:m:“b\{gx

a%{*%q - O“(c:' Oa‘ Q\K{%Sm

DV e R o gL STm m
Jolole .
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Part 5 — Surface Area of Composite Shapes

1) Find the surface area of the tent, including the bottom. ) (
cock ek Rmy = R (2= 4m ¢
boltom lLm X 3dm = QOC

Liond 1 back 2(122 XQO b)= 0.96n

it 3 ,’,QML + 0‘761)"72- = (g'.:’b”1

1.6m

2) On the following A-Frame house, the front and back are identical. The windows measure
80 cm by 90 cm, and the door measures 95 cm by 205 cm. Calculate the surface area of:
a) the windows and doors
b) the roof

4.0
¢) the whole front and back face without windows and doors A)y'
Ch \J\)A\V\d.ow"i) ‘—} Q B K (‘1> = Q ‘%%m B
oo 5 4 (a5 x2.05)= F.H

Cb Q(Ln.‘\' { ack ?cku;, N
. 2 Q":) X:I‘a\)— 3:‘)‘5—m o
1% ‘h\ & \\F o (‘\fi:) O (‘L Ck'_‘C e He‘ght of chalet = 7.1 m
(W} U LAy L <5 & N ) ,
35,5 —2.%5%-F+F9 = R4.83n
3) Find the total exposed surface area of the cake that you would ice!
7 \Q A op Ui € U
4 |1\J 11/’\ v < L*(L‘\( \‘Q,. ’ / - ‘: : _
cm L oh coninaer (= 3 / dem
ohrrﬁ \:3 erb’ “\‘ JOXIF =170
> S.4= RS . &L
g ‘Wh QU -S4= 125 5
ESNSEA - <D
(e ~0S e 3 xiox= SO |
(Q(m\ 2 2xdx17F = 136, (
10cm

?ﬁb cm’™
-12-



racddvs =\

( /‘ 4) Find the surface area of the tent. (Oaif

~N AT h T

\NC}U&)— - . = L{ 2 B a o . v
. -~ _ - 2 1.0 N
b&(_t’_ (,;{{; /\j‘&‘ Q - ‘u— Do l’\{ {2 E"]I_( ) T '/> - ‘\‘g

sx2) = X 2

( \3 - . - . /30 m '?7
ooettopn XA T ) 20m

Tobadl A = 23.56mM° e (22

5) Two identical triangular prisms are joined in 3 different ways as shown.
Determine the surface area of each object formed.

a) . b) <)
/ 5 em é 5cm § 5cm & cm
( o, 12cm »rj . & 6cm E 12cm 6cm § 12cm Gem
. ‘ef}ﬁ s land U e 5 f(wdaf b e 3(5)(;;2) (2o top RUBXEY =15
O5%e2t =13 LR S SICR D} LC' oot forn c&(,c«ﬁfo): ER

Top = AXIBXE=ISLT! fop & biffoam QLX) 4
bdmmzélwaﬁbvﬂﬁw”f
{lrm\;\'ﬂ( back = A XS X IZ,.::)QC"#,

Fronk 4 back. (= );(1233 O
left (S xE)=

Totall HAC CML

> c N
"VO‘LCO\ '?B?l‘%cym Toladd = 40 o

6) Two identical equilateral triangular prisms are joined by a cylinder as shown. The
equilateral triangle has side length 14 cm and a perpendicular height of 12 cm.
The rectangular sides have length 5 cm. The cylinder has diameter 5 cm and
length 9 cm. Determine the surface area of the composite object, to the nearest
square centimetre. Show your work.

€ \5 \j
A).‘\ V, ﬁl%xll/) 275 (,
(a \:js = LRy xsH= '+1D

f\,\)\\f\(kfi(‘ /\&ZT(Q“‘)>(\L\) \
u\,@(\_o,p U‘“,:: ,\W 2%‘) - 3927

e o zaadpor M -3 F =85 F 73

=58
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" A banquet hall has small triangular tables that :
seat 1 person on each side. The tables can be :

pushed together to form longer tables. X ) 4
2
° ® [ 2 o+
A B YAVAN
L 2 L,[
® o - -
AVAV: 515
o o ooy
Sketch the next 2 table arrangements. =
e o 19 ) s (&l —— -
VAVAVA YAV, i
0 e v© < o
( Diagram/Situation Table of Values
6raph Equation

Label the points on the graph

[ . R )
Jy= X+ 2
Q'L“f)'
-
k)
)
BN
'; ;(@"’h J
HUE)
(: < >
Y

-15-



e o

&

O o o
T et

A=3

Diagram/Situation

D
N
»y

==

1]

N
\®) -y

el

(GINs]

N

&
W

O | =

OF3
|2

D3

215
>

Table of Values

Equation

V= S|

-16 -



4 -
THED RS
Y (3) =R
44—

-17-

@)

2
G

-2 |47
It

4x-2

Table of Values
Y

Equation

) 0
2 Q
CQ

(&

Y

O
(
(oo

—

o2

had \le)‘\.a/
A
/

{2
%)
A/

3
¢
(
-

C
X

O
C

A

Diagram/Situation
Graph
Label the points on the graph



